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Instructions:

e Translation and regular dictionaries are permitted.
* Scientific non-programmable calculators are permitted.
e Print your name and ID in the provided space.

This examination consists of 5 exercises. Please ensure that you have a
complete examination before starting.



(1) [10+10 marks] In each case, find the components the magnitude and the
standard—p051t10n angle of sum R of the given vectors:

(a) F =154, Op = 90°
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(2) [10+10 marks]Solve the triangles with the given parts
(a) a—0841 b=0.965 A=57.1°
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(b)a——723 b—598 c=158
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(3) [1¢ 0+10. marks)For each function, determine the amplitude, period, the dis-
placement-and-sketch-the graph on any interval with penod length.

(a) y= 2sin (3z+ %)
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(b) y : cos (2nz — 2)
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(4) [10+10 marks]Using trigonometric identities, find the EXACT VALUES of
the following (no decimal or rounding):
(a) sin (105°), (hint : 105° = 60° 4 45°)

Sin (105°) = sin (60> +45°)

B

ST L0® (ost5® + (o5 lolsmmdS®
' 2 ’i 02 2

e
w——

2413
ALy

Fo
T 9



10

3-

b) Let 0 < z < 90° and 90° < y < 180° such thaj; cos(z) = & and sin(y)
2
Find cos(z — y)
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(5) [1 0+10 marrks] Solve the followmg systems of linear equat1ons:

(a) 3x+17y=7
10X+l3y—5
using Cramer’s Rule
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(b) 2x+4y=-3 DA =
Tx+4-3y=10, _
using substitution method.
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FORMULA SHEET ,
~ sin(zx +y) =sin(z) cos(y) + sm( ) cos(z)
. sin(z — y) = sin(z) cos( ) — sin(y) cos(z)
- cos(z+y) = cos(:z:) cos(y) - sm(a:) sin(y)
- cos(z — y) = cos(z) cos(y) + sin(z) sm(y)

For a vector A in zy-coordinate plane, the z component A, the Y compo-
nent A, the magnitude and the reference angle are given by:

Az = Acos(f), A, = Asin(6) v
A=, /A2 v+'A§
Orey = tan‘l(
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Law of sine
sin(A) _ sin(B) _ sin(C)
a ~ b T ¢

Law of cosine
a? = b% + ¢% — 2bccos(A)
b? = a? + ¢ — 2ac cos(B)
¢® = a? 4 b* — 2abcos(C)






